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1623 

B.Sc./B.Ed. (Part-I) EXAMINATION, 2018 

CHEMISTRY  

Paper – CC-2 (II) 

(Physical Chemistry) 

Time: Three Hours 

Maximum Marks: 40 

 

Instructions:  

 Attempt five questions in all, selecting at least one question from each Unit. 

The answer of essay type questions should not be more than 400 words and 

short answer type of questions in not more than 150 words. All questions carry 

equal marks.  

fufufufunsZ’k %nsZ’k %nsZ’k %nsZ’k %        

  izR;sd bdkbZ esa ls de&ls&de ,d,d,d,d iz’u dk p;u djrs gq,] dqy ik¡p ik¡p ik¡p ik¡p iz’uksa ds 

mÙkj nhft;sA fucU/kkRed iz’u dk mÙkj vf/kdre    400400400400 'kCnksa esa vkSj y?kqÙkjkRed 

iz’u dk mÙkj vf/kdre 150150150150 'kCnksa esa fyf[k;sA lHkh iz’uksa ds vad leku gSaA 
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UNIT – I bdkbbdkbbdkbbdkb ZZ ZZ    &&&& I 

Q.1 What do you mean by nuclear reactions? Describe various nuclear reactions. 

Classify the difference between nuclear and chemical reactions.    

        [8] 

 ukfHkdh; vfHkfØ;kvksa ls vki D;k le>rs gS\ fofHké izdkj dh ukfHkdh; vfHkfØ;kvksa dk 

o.kZu dhft,A ukfHkdh; rFkk jklk;fud vfHkfØ;kvksa ds vUrj dks Li"V dhft,A   

OR  vFkokvFkokvFkokvFkok            

Q.1 (A) The half life of a radioactive substance is 50 hrs. How much time it will take to 

disintegrate 80%            [4] 

  ,d jsfM;ks/kehZ inkFkZ dh v/kZ&vk;q 50 ?k.Vs gSA blds 80% fo?kVu esa fdruk le; 

yxsxk\    

 (B) Write short note on following -           [4] 

  (i) Factorial  

  (ii) Probability   

  fuEufyf[kr ij laf{kIr fVIi.kh fyf[k;s & 

  (i) Øexqf.kr  

  (ii) izkfHkdrk   

UNIT – II bdkbbdkbbdkbbdkb Z &Z &Z &Z & II 

Q.2 What is critical phenomenon? Derive expressions for critical constant using Vander 

Waal’s equation.             [8] 

 ØkfUrd ;fj|Vuk D;k gS\ ok.Mj oky lehdj.k dk mi;ksx djrs gq, Økafrd fLFkjkadksa ds 

fy, O;atd O;qRié dhft,A 

OR  vFkokvFkokvFkokvFkok 

Q.2 (A) Explain molecular velocity distribution law of Maxwell.           [4] 

  eSolosy ds vkf.od osx forj.k fl)kUr dks le>kb;sA 

 (B) Write short note on following –            [4] 

  (i) Root means square velocity.  

  (ii) Mean free path.     

 ¼c½ fuEufyf[kr ij laf{kIr fVIi.kh dhft, & 

  (i) oxZ ek/; ewy osx 
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  (ii) vkSlr eqDr iFkA 

UNIT – III bdkbZ bdkbZ bdkbZ bdkbZ &&&& III 

Q.3 Describe the various applications of colloid.              [8] 

 dksykbMksa ds fofHké vuqiz;ksxksa dk o.kZu dhft;sA 

OR  vFkok vFkok vFkok vFkok         

Q.3 (A) Write short note on the following -           [4] 

  (i) Hardy – Schulze law   

  (ii) Detergents  

  fuEufyf[kr ij fVIif.k;k¡ fyf[k;s & 

  (i) gkMhZ& 'kqYts dk fu;e 

  (ii) viektZd 

 (B) Explain in detail about smectic and nematic liquid crystals.        [4] 

  lkcquh rFkk rkUro nzo fØLVy dh foLr`r O;k[;k dhft;sA 

UNIT – IV bdkbZ bdkbZ bdkbZ bdkbZ &&&& IV 

Q.4 What do you understand by Raoult’s law and lowering in vapour pressure? Derive 

Raoult’s law form lowering in Vapour pressure.             [8] 

 ok"i nkc esa voueu rFkk jkmYV & fu;e ls vki D;k le>rs gS\ ok"i nkc voueu ls 

jkmYV fu;e dh O;qR;fr dhft;sA   

OR  vFkok vFkok vFkok vFkok         

Q.4 (A) Write the short note on the following -           [4] 

  (i) Colligative properties    

  (ii) Osmotic Pressure  

  fuEufyf[kr ij laf{kIr fVIi.kh dhft,& 

  (i) v.kq&la[;k xq.k/keZ 

  (ii) ijklj.k nkc 

 (B) Difference between in Ideal – solution and Non-ideal Solution.         [4] 
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  vkn’kZ rFkk vukn’kZ foy;u esa vUrj Li"V dhft,A 

UNIT – V bdkbbdkbbdkbbdkb Z &Z &Z &Z & V 

Q.5 Derive a relationship between free energy and equilibrium constant and calculate the 

free energy change of the reaction.              [8] 

 2H2(g) + O2(g) → 2H2O(g)       at 1727°C. [ Given Kp = 1.55×10
7
 at 1727°C ] 

 eqDr ÅtkZ ,oa lkE; fL;jkad ds chp lEcU/k O;qRié dhft;s rFkk fuEu vfHkfØ;k -  

 2H2(g) + O2(g) → 2H2O(g) ds fy, 1727°C ij eqDr ÅtkZ dh x.kuk dhft;sA fn;k 

x;k gS Kp = 1.55×10
7
,1727°C ijA      

OR  vFkok vFkok vFkok vFkok         

Q.5 (A) Write the short note on the following -           [4] 

  (i) Steam distillation   

  (ii) Extectic mixture   

  fuEufyf[kr ij fVIi.kh dhft;s & 

  (i) Hkki vklou 

  (ii) xyu ØkfUrd feJ.k 

 (B) Draw phase diagram of NaCl-H2O System and explain it.           [4]

    NaCl-H2O  ra= dk izkoLFkk vkjs[k cukb;s rFkk bls le>kb;sA    

--------------------------------- 

 


